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QUESTION 1

Which software blade provides forensic analysis tools?

A. Logging Blade

B. Identity Awareness Blade
C. Monitoring Blade

D. SmartEvent Blade

Correct Answer: B

QUESTION 2

https://lwww.pass4itsure.com/156-560.html
2024 Latest passditsure 156-560 PDF and VCE dumps Download

Where are the api logs found on the Security Management Server?

A. $FWDIR/log/api.elg
B. /var/tmp/api.elg
C. /var/log/api.elg
D. /opt/log/api.elg

Correct Answer: A

QUESTION 3

To travel between spokes, non-transitive traffic uses
A.a VTI

B. the Northbound hub
C. the Southbound hub
D. Peering

Correct Answer: D

QUESTION 4

to allow Ipv4 and IPv6 traffic to reach a spoke network

When using system routes and user defined routes in Azure, which takes precedent?

A. The user defined route takes precedent
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B. The system route always takes precedent
C. The most specific route takes precedent
D. The newest route takes precedent

Correct Answer: C

QUESTION 5

The ability to support development and run workloads effectively is commonly called:
A. Performance Efficiency

B. Cost Optimization

C. Operational Excellence

D. Reliability

Correct Answer: C

The Operational Excellence pillar includes the ability to support development and run workloads effectively, gain insight
into their operations, and to continuously improve supporting processes and procedures to deliver business value.

QUESTION 6

When using Data Center Objects in a policy and the objects are not updating, what are two steps we can check?
A. 1. Verify process is running with “cloudguard on\\' and

2. restart the api process with “api restart\\'

B. 1. Verify process is running with “cloudguard on\\' and

2. “test communication\\' button the Data Center Server object

C. 1. Reboot the Security Management Server and

2. restart the cloudguard process with “cloudguard on\\

D. 1. Reboot the Security Management Server and

2. restart the api process with “api restart\\'

Correct Answer: B

QUESTION 7
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What are two basic rules Check Point recommends for building an effective policy?
A. Cleanup and Stealth Rule

B. VPN and Admin Rules

C. Implicit and Explicit Rules

D. Access and Identity Rules

Correct Answer: A

QUESTION 8

What is the key component in securing and managing any environment?
A. Security Management Server

B. Security Gateway

C. Security Policy

D. Security Access

Correct Answer: A

QUESTION 9

How is CloudGuard for Azure licensed in PAYG (Pay As You Go) mode?
A. Per hour based on resources consumed

B. Per Gateway

C. Per Socket

D. Per vCore

Correct Answer: A

QUESTION 10
Which scripting language is used by CloudGuard to develop templates that automate Security Gateway deployments?
A. Perl

B. C++
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C. JSON
D. Python

Correct Answer: C

QUESTION 11

How is CloudGuard for Azure licensed in BYOL (Bring your own license) mode?
A. Per usage

B. Per Socket

C. Per vCore

D. Per Gateway

Correct Answer: C

QUESTION 12

What is public cloud?

A. Computing environment with limited resources

B. Computing environment located over the internet
C. A shared computing environment

D. Computing environment dedicated to one company

Correct Answer: A

QUESTION 13

What are the Automation tools?

A. API, CLI, Scripts, Shells and Templates
B. Terraform and Ansible

C. AMIs

D. CloudFormation

Correct Answer: A

QUESTION 14
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Which log file should an administrator gather to expedite the diagnosis of a CloudGuard Controller issue?
A. $CPDIR/logs/cloud.elg

B. $DADIR/logs/controller_proxy.elg

C. $FWDIR/logs/cloud_controller.elg

D. $FWDIR/logs/cloud_proxy.elg

Correct Answer: D

QUESTION 15

When Cloud Security Posture Management discovers non- compliant cloud resources, CloudBot applications perform
automated remediation\\'s to correct any violations. How true is this statement?

A. This is true, however it requires Full Protection access to the Cloud Account to perform automated remediation

B. This is not true, Cloud Security Posture Management (CSPIU) can only report non- compliance and cannot remediate
by itself

C. This is partially true, however the automated remediation is not done by CloudBot applications but it is done by the
Security Management Server

D. This is not true because CloudBot applications are used to provide chat service to respond to non-compliance alerts

Correct Answer: A
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